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QUESTION 1

A SAP configured in the form of 1/1/1:0/32 would be used for which type of VPWS? 

A. A-pipe 

B. C-pipe 

C. E-pipe D. F-pipe 

Correct Answer: A 

 

QUESTION 2

What does a PE do when a frame is received in a VPLS service with an unknown destination address by default? 

A. Drop the frame. 

B. Flood the frame to all PEs participating in the service. 

C. Send a destination unreachable message back to the originating host. 

D. Store the frame until the destination is known 

Correct Answer: B 

 

QUESTION 3

On a Nokia 7750 SR, which of the following about IES interfaces is FALSE? 

A. An IES can only have one interface. 

B. An IES interface can have an SDP or a SAP. 

C. An IES can perform fragmentation. 

D. An IES must have an IP address assigned to it. 

Correct Answer: A 

 

QUESTION 4

Which one of the following items CANNOT be used as a mirror source on a Nokia 7750 SR? 

A. IP filter 

B. MAC filter 

C. Egress label 
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D. Ingress label 

Correct Answer: C 

 

QUESTION 5

Click the exhibit. 

Based on the output from PE router R1 about VPRN 100, by which protocol was 192.168.10.0/24 learned? 

A. BGP 

B. MP-BGP 

C. LDP 

D. MPLS 

Correct Answer: B 
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